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PAPER CODE : 21

PAPER-III
COMMERCE

Note : This paper contains Seventy five (75) objective type questions, each question carrying

two (2) marks. Attempt all the questions.
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1.

The advantage of floating rate bond is :

(A) Itavoids therisk of interest rate
fluctuations in the economy.

(B) Itdoesnotrequire redemption

(C) Itdoesnotinvolve payment of
Interest.

(D) All ofthe above

Rating by credit rating agencies may be

basedupon: i

(A) Information available to it
directly from the company.

B) Informationavailable to it from
any source.

(©) Information available from the
published documents of the
company.

D) All ofthe above

NSE stands for :

(A) Net Security Exchange

(B) New Stock Exchange

(C) National Stock Exchange

(D) National Securities Exchange

Venture Capital is source of funds for :

(A)  Government sponsored projects.

(B) Projects having good growth

. opportunities.

(C) On-going projects.

(D) Non-profit organisation

Letter of Creditis :

(A) non-fund based lending-in the
domestic trade

(B) non-fund based lending in the

1international trade -
(C) letter given by exporter to the
importer.

(D) issued by Reserve Bank of India.
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10.

1L

The maturity of Commerical Paper can

be:

(A) 7 days to one year

(B) oneyearto three years

(C) three years to seven years

(D) beyond seven years.

I.F.R. S. stands for

(A) ' International Financial Reporting
Statements

(B) Indian Financial Reporting
Statements

(C) Intemational Financial Reporting

] Standard

(D) Indian Financial Reporting
Standard.

In anopen ended mutual fund scheme :

(A) Afixedamount may beinvested
periodically.

®) [Investor can purchase and sell
units on a daily basis.

(C) Ttoffersaninstant liquidity.

(D) Alloftheabove

A merchant banker is :

(A) anintermediary in the capital

: market.

(B) abanker which deals only with
the traders.

(C) afacilitator for arranging loans
to the traders.

(D) Noneoftheabove

In “Without Recourse’ Factoring.

(A) Theclienthastobear the loss of
non payment.

(B) The factor bears the loss of non-
payment. ’

(C)y Theloss of non-payment is shared *

equally by the factor and the client.

(D) Theloss of non-payment isshared
by the Reserve Bank of India.

Human Resource Accounting is :

(A) Mandatory for public sector
enterprises.

(B) Mandatory for government
Companies.

(C) Mandatory under the Indian

. Accounting Standard.

(D) notmandatory.
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12.

4.

15.

17.

18.

Over the Counter Exchange of India

(OTCEI) was started after the role .

model of :
(A) NASDAQ
®B) JASAQ
(C) NASDAQand JASDAQ
(D) NSE
An investor gets 15% return from X
stock. The inflation rate is 7%. His real
rate of return is .
(A) 7.48%
®B) 8%
© 25%.
O 15%
The High Liquid Security is :
(A)  Mutual Fand Units
B) Treassury Bills
(C) Shares
(D) Commerial Paper
The put option buyer gains
(A) Inthebullish market
B) Inthe bearish market
(C) Inthe stable market
(D)  When the strike price in fower
than stock prices.
The ......coccisvescienenne concept holds
that acheiving organizational goals
depends on knowing the needs and
wants of target market and delivering
the desired response better than
competitorsdo :
(A) Selling
(B) Equity
{C) Marketing
(D)  Production
Kmong the factors affecting consumer
’{Jehaviour, Reference groups are
considered to be apart of : ’
(A) Cultural Factors’
(B) Social Factors
{C) * Personal Factors
(D) Psychological Factors
‘When backed by buying power, wants
become : . o
(A) Selfesteemneeds
(B) Exchanges
(€) Demand
@) Social need
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19.

20.

21.

22.

23.

24.

When marketers set low expectations for

amarket offering, they run the risk of :

(A) failingto understand customer
needs

(B) Failing to attract enough
customers ‘

©) Disappointing loyal customers
Decreasing customer satisfaction

1n addition to attracting new customers

and creating exchange the goal of mar-

Keting iS10 .cvvereresneces = customers and

grow their business.

(A) Recognize

(B) Encourage

(C) Retain

(D) Entertain

ABC Inn Franchisees might complain

about other ABC Inn operators over-

charging guests or giving poor setvice,

thus hurting overall image of ABC Inn.

The above mentioned is an exampleof :

(A) Vertical Channel Conflict

(B) - Direct Channel Conflict

(C) Horizontal Channel Conflict

(D) Administered Channel Conflict

Benefit Segmentaiion is a Part of :

(A) Psychographic Segmentation
(B) Behavioural Segmentation

(C) Demographic Segmentation

(@) Geographic Segmentation

The term Marketing Myopia was given
by which of the following : ‘
(A) Philip Kotler

(B) Rusell H. Coley

(C) Theodore Levitt

(D) F.W.Taylor

Arrange the following steps involved in
the process of personal selling in the
proper sequence :

a. Prospecting

b. Final close

¢. Pre-approach

d. presentation

(&) bcda

®) c,adb
© a,cd,b
®) d,c,ab
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25.

26.

27.

28.

29.

Pricing that starts with an Ideal Selling
price, then target cost that will ensure that
price ismetis knownas :

(A) Value based Pricing

(B) Costplus pricing

(C) Target Pricing

(D) None ofthe above

Arrange the following stages of
product adoption process in the
proper sequence :

a. Adoption

b. Awareness

c. Interest

d. Trial

e. Evaluation

(A) ab.c.de

®B) b.ceda

(C) ab.cde

D) cebda

AlO Stands for which of the following
(A) Awareness, Interests, Opinions
(B) Attitude, Interests, Options

(C) Adctivites, Interests, Opinions

(D) Attributes, Interest, Observations

Match the following :
1. Brand a. Cobranding
Development
2. Go & Drop b. Expected
error Shelflife
3. OpenDating  c. Brand Extension
4. Brand d. Idea Screening
Sponsorship

A) 1-a,2-b,3—c,4-d
B) 1-a,2-d, 3« 4b
©) 1-,2-d,3-b,4-a
D) 1-d,2-a,3—<,4b
Which step of buyer decision making
process precedes the purchase

decision ?

(A) PostPurchase Evaluation
(B) Information Search

(C) Evaluation of Alternatives
(D) Need Recognition
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30. Which of the following is not a key
characterstic of Maturity stage of
productlife cycle ?

(A) Slow Sales Growth
B) Market Modification
(C) Product Modification
(D) Product Withdrawl

31.  Minimum wages Act was givenin which
of the following year :
(A) 1948
B) 1940
{©) 1976
) 1962

32. - Arrange the following steps involvedin
Berformance Appraisal process in the
correct sequence :

A Communicate the standards
B Compateactual performance with

Standards & discuss the appraisal
¢ Establish Performance
Standards }
D Taking Corrective action, if
neccessary

E  Measureactual performance

&) AB,C,D,E

®) CAEBD

() D,B,E,AC

®) B,C,D.E.A

3. Three kinds of comparative procedures

involved in subjective measure of

performance assessmentare :

(A) Ranking, Paired Comparison,
Forced Distrubtion

(B) Ranking, weighted checklist,:
Forced Distribution

(C) Response, J ob-Instruction
Training, MBO :

(D) Reliability, Paired Comparision,

Ranking ’
34. Which of the following isnot an
element of Direct compensation -
(A) BasePay
(B) Merit Pay
(C) Commission
(D) . Medical Insurapge
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35.

36.

37.

38.

39.

40.

Systems Thinking, Personal Mas-

tery, Mental Models, Shared Vision

and Team Learning are five main char-

acteristics of :

(A) Knowledge Management

(B) Leaming Organizations

(C)  Action Based Learning

(D) Human Resource Informsiion
System

Which one of the following is required

as part of the employee empowerment

process ?

(A)  Transfer of Authority

(B)  Assignment of Responsibility

(C) FEstablishment of’ Accountability

(D) Allofthe above.

In the context of Interviews, reliability is

consensus, or agreement between two

interviewers on their assessment of the

‘same candidate. Thisis known as :

(A)  Similarity Error

(B) Contract Error

(C) Inter-Rater Reliability

(D) Inter-Related Reliability

Which of the following is a method

of collecting data for Need Assessment :

(A) Search of Existing Records

(B) Assessment Centres

(C) JobAnalysis

(D) All ofthe above

Which of the following does not fall

under the category of operative functions

of Human Resource Management.

(A)  Procurement

{B) Motivation and Compensation

(C) Planning

(D) Grievance Redresal

Which of the following is not a part of

recreational facilities :

(A) Comsumer Societies

(B) Housing

(Cy Holiday Homes

(D) None of the above
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41.

42.

43.

44.

45.

46.

Which of the following is a written

description of the activities performed

on Job as well as information about the

job context, equipment used & working

conditions :

(A) JobEvaluation

B) JobDescription

(C) JobGrading

(D) JobDifferentiation

HRIS Stands for :

(A) Human Resource Information
System

(B) Human Resource Indication

: System

(C) Human Resource Incentive
System

(D) Human Resource International
System

Which particular strategy if used/

adopted by HR department for

attracting potential candidates to

apply for job vacancy might result in

indirect discrimination ?

(A) Advertising inlocal press

(B) Recruitment Banner

(C) Wordof Mouth

(D) Agency Recruitment

Human Resource Selection process :

(A) Helpsinlocating condidates

(B) Determines the suitability of

... candidates

(C) Prepares imployees for training

(D) Inducesemployeesto the firm’s
environmment .

Which of the following does not fall in

the category of Projective Tests ?

(A) Thematic Appreciation Test.

(B) Hoetzman Inkblot Test

(C) Sentence Completion Test

(D) . Dexterity Test

Which of the following is the correct

sequence of WTO ministerial confer-

ences ?

(A) Seatile-Doha-Cancun—Hongkong

(B) Seatile-concun-Hongkong-Doha

(C) Doha-cancun-Seatile-Hongkong

(D) Seatile-Doha-Hongkong-cancun
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47.

48.

49.

50.

51.

Which one ofthe following method of
promoting FDI inflow by host country is
not correct ?

(A) Taxincentives

(B) Low interest rates

(C) Infrastructure improvement

b(D) Ownership restrictions

The current account balance in an open

economy includes :
1. Services rendereal by domestic
commercial companies

2. - Unilateral transfers

3. Movement in Banking capital

4. External commercial borrowings -

Which of these are correct ?

(A) land2

B) 1,2and3

(C©) 3and4

(D) onlyl

Which of the following is not an argu-

‘ment for Protectionism ?

(A) To protect infant Industries

(B) To Protect strategic industries

(C) Toimprove the balance of payment

(D) To increase the level of imports

If there is a balance of payment

deficitthenin a floating exchange rate

system : .

(A) Theexternal value of currency
would tend to rise

(B) - Theexternal value of currency
would tend to fall

(C) Theexternal value of currency
would renain unaffected.

(D) Noneoftheabove

In the list of four countries given below

choose the one which has a positive trade

surplus

(A) USA

(B) India

(Cy China

D)y Greece
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52. Over the last one year the Ind1an 52.

53.

Rupee has been

N
®)
©

()]
Characteristics of offshore financial cen- 53.

appreciating with respect to US
Dollar

depreciating with respect to US
Dollar

Showing no trend with respect
to US Dollar

All of the above

ters (OFCs) indclude :

GV

L))

54..

55.

©

™

A large foreign currency market
for deposits and loans

A market that functions as a large
net supplier of funds to the world
financial markets

A market that functions as an
intermediary of Pass-through for
international loan funds

All of the above

Devaluation can correct adverse balance
of payment if :

®

@
(i)
@)

Demand for imports will be
highly elastic

Demand for exports will be
highly elastic

Demand for imports will be
highly inelastic

Demand for exports will be

-highly inelastic

Select the correct answer using the codes

(A)
®)
©
)

‘Whichofthe following is not correct ?

Gy
(B)

©

(Y

givenbelow:

iandii

i,iiandiv
iiiandiv -

None of the above

A country with cheap labour
attracts FDI

There is often a positive
correlation between FDI and
export dynamism in the
developing world.

any increase inrevenue from
tourism deteriorate the balance
of trade

None of the above
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56.

57.

58.

59.

60.

®)

Practice of insuring against potential 56.

Tosses that result from adverse change in
exchange rate is known for :

(A) Currency control

() Currency hedging

(C) Currency creation

(D) None ofthe above

Convertibility of the Rupee implies : 57.

(A) Beingableto convert rupee into
Gold
(B) Allowing the value of Rupee
to be fixed by central bank
Developing an international
market for currencies in India
(D) Freely permitting the conversion
of Rupee to other major currencies -
and vice-versa
Which of the following isnot member of
NAFTA?

©)

(A) Canada 58.

(B) Maxico
(C) United States

(D) CostaRica

Which one of the following is the
correct sequence in increasing degree

of integration between member 59.

countries:
(A) Freetrade area—custom union—
common market-economic union
(B) Free trade area—common market—
custom umion—economic union
Common market-custom urtion—
Free trade area—economic union
Custoin union-free trade area-
common markef-economic union

©
)

What is OPEC 7 60.

(A) The latest space shuttle of USA
The latest space shuttle of Russia
Organisation of Oil Producing
Companies of India
Organisation of Oil Exporting

Countries

©
©
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61.

62.

63.

64.

65.

66.

Income which accrue or arise outside

India and also received outside India is

taxable in case of :

(A) residentonly

®B) notordinarily resident

(C) bothordinarily and not ordinarily
resident

(D) none of the above

X 1td,, is registered in UK. The control

. and management of its affairs is wholly

situated in India. X Ltd: shall be :

(A) residentin India

(B) non-resident in India

(C) notordinarily residentin India
(D) cannot be ascertained

Interest paid during pre construction
period is allowed as deduction in form
Of e equal annual install-
ments commencing from the year
of completion of house property.

(A) twenty

B) fifteen

(C) ten

D) five

Where the payment of an expenditure
claimed as deduction exceeds Rs.
20000, it should be paid by :

(A) Bearer cheque

®) cash

. (C) Alcpayee cheque/A/c payee draft

(D) crossed cheque

For claiming exemption u/s 54 G, the

assessee shall acquire the new asset

within: '

(A) 2years from the date of transfer

(@) 1yearbefore or2 years after the
date of transfer

(C) 3 years from the date of transfer

(D) 1 yearbefore or 3 years from the
date of transfer

Where the entire block of depreciable

assetis transferred after 36 months, there

willbe

(A) Short term capital gain

(B) Longterm capital gain

(C) Short term capital gain or loss

(D) Long term capital gain or loss
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67.

68.

69.

70.

71

72.

Ifthe martiage of the parents does not
subsist, the income of the minor child
shall be clubbed in the income of

(A) Father

B) - Mother -

(C) Father or Mother at their option
(D)  parent who maintain the child

In case of self occupied house property,
the deduction is available only in respect
of
&)
®

repair and insurance

Interest on borrowed capital
(C) Vacany allowance

(D) Groundrent

Employer’s contribution to recognized
provident fundis:

(A) exemptupto 10% of salary
(B) exemptupto 12% of'salary
(©) fullyexempt

(D) exempt at the discretion of
employer

The employer has given atelevision set |

for the personal use of the employee. The

value of this perquisite shall be.

(A) Nil

B 10%oftheoriginal costoftelevision

(C) 10% ofthe Written down value of
television

(D)  15% of market value

Un-commuted pension received by a

Non-Government employee is :

(A) fullytaxable

(B) partly taxable

(C) fullyexempt from tax

(D) exemptupto Rs. 60,000 per annum

Salary for the purpose of computing ex-

emption in case of Entertainment allow-

ance shall include

(A)  basic salary only

(B) Basic salary and Dearness
allowance

(C) Basic salary and all taxable
allowance .

(D) Basic salary and Commission
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73.

74.

7s.

If the assessee is engaged in the busi-
ness of manufacturing tea, the income in
that case shall be :

(A) follyexempt

B) fullytaxable

(C) 60% ofthe income from such

. business is exempt from tax

80% of the income from such
business is exempt from tax

)

Unabsorbed depreciation brought for-
watrd from an earlier year of a particu-
lar business can be set off frem

&)
®

income of card games

any head of income but first from
business income

(C) onlyfrom business income
D)
Loss from non speculative business can
be set off through income from

)
®
©

agricultural income only

Non speculative business
Speculative business
Both speculative and non
speculative business

card games

V)]

73.

74.

75.

oo
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